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Circle the most accurate answer for each of the following questions
Q.1.
The most widely used semiconductive material in electronic devices is:
(a)   germanium,

(b)   carbon,

(c)   copper, 

(d)   silicon.

Q.2.
The current in a semiconductor is produced by: 
(a)   electrons only,

(b)   holes only,

(c)   negative ions,

(d)   both electrons and holes.

Q.3.
In an intrinsic semiconductor:
(a)   there are no free electrons,

(b)   the free electrons are thermally produced,

(c)   there are only holes,

(d)   there are as many electrons as there are holes,

(e)    answers (b) and (d).

Q.4.
The process of adding an impurity to an intrinsic semiconductor is called:
(a)   doping,

(b)   recombination,
(c)   atomic modification,
(d)   ionization.
Q.5.
Holes in an n-type semiconductor are:
(a)   minority carriers that are thermally produced,

(b)   minority carriers that are produced by doping,

(c)   majority carriers that are thermally produced,

(d)   majority carriers that are produced by doping.
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Q.6.
The depletion region is created by:
(a)   ionization,

(b)   diffusion,

(c)   recombination,

(d)   answers (a), (b), and (c).

Q.7.
The depletion region consists of:
(a)   nothing but minority carriers,

(b)   positive and negative ions,

(c)   no majority carriers,

(d)   answers (b) and (c).

Q.8.
When a diode is forward-biased:
(a)   the only current is hole current,

(b)   the only current is electron current,

(c)   the only current is produced by majority carriers,

(d)   the current is produced by both holes and electrons.

Q.9.
Although current is blocked in reverse bias:
(a)   there is some current due to majority carriers,

(b)   there is a very small current due to minority carriers,

(c)   there is an avalanche current.

Q.10.
For a silicon diode, the value of the forward-bias voltage typically:
(a)   must be greater than 0.3 V,

(b)   must be greater than 0.7 V,

(c)   depends on the width of the depletion region,

(d)   depends on the concentration of majority carriers.

Sunday, 06 October 2002

